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1.	 Imbrb {dYmZo {dMmamV ¿`m : 
A.	 gan§MmMo (Á`mMr {ZdS> J«m‘n§Mm`VrÀ`m g^mgXm§H$Sy>Z 

Pmbocr Amho) AWdm Cngan§MmMo, [aº$ (amOrZmå`m‘wio) 
Pmbobo nX Vo [aº$ Pmë`mÀ`m {XZm§H$mnmgyZ Vrg 
{Xdgm§À`m AmV ^abo nm{hOo.

~.	 WoQ> OZVo‘m’©$V {ZdS>boë`m gan§MmMo [aº$ Pmbobo nX 
Vo [aº$ Pmë`mÀ`m {XZm§H$mnmgyZ VrZ ‘{hÝ`m§À`m AmV 
^abo nm{hOo.

H$.	 J«m‘n§Mm`VrÀ`m Á`m gXñ¶mMo nX gVV J«m‘n§Mm`VrÀ`m 
g^obm J¡ahOa amhÊ`mÀ`m H$maUmñVd [aH$m‘o Pmbo 
Agob Va Vmo bJoM nwÝhm§ {ZdSy>Z `oÊ`mg nmÌ ZgVmo.

darbn¡H$s H$moUVo {dYmZ/Zo ~amo~a Amho/AmhoV?
(1)	 ’$º$ A 	 (2)	 ’$º$ A Am{U H$ 
(3)	 ’$º$ ~ Am{U H$ 	 (4)	A, ~ Am{U H$

�� Consider the following statements : 
a.	 The post of the Sarpanch (who is elected by the 

members of Gram Panchayat) or Upa Sarpanch, 
as the case may be, that has fallen vacant (due to 
resignation) shall be filled in within thirty days 
from the date of such vacancy. 

b. 	 The post of the directly elected Sarpanch that has 
fallen vacant shall be filled within three months 
from the date of such vacancy. 

c. 	 A member of a Gram Panchayat whose post has 
become vacant due to absence for continuous 
meetings of the Gram Panchayat shall not be 
eligible for re-election. 

Which of the statements given above is/are correct?
(1)	 Only a 	 (2)	 Only a and c 
(3)	 Only b and c 	 (4)	 a, b and c  

2.	 ‘hmamï´> J«m‘ n§Mm`V A{Y{Z`‘mVrb "J«m‘ {dH$mg g{‘Ë`m' 
g§~§YrÀ`m VaVwXr ~m~V Imbrb {dYmZo {dMmamV ¿`m :
A.	 J«m‘ {dH$mg g{‘VrVrb gXñ`m§Mr EHy$U g§»`m gmVnojm 

H$‘r Zgob Am{U gVamnojm OmñV Zgob.
~.	 J«m‘ {dH$mg g{‘VrVrb gXñ`m§n¡H$s EH$V¥Vr`m§emnojm 

H$‘r ZgVrb BVHo$ gXñ` J«m‘n§Mm`VrÀ`m gXñ`m§‘Yrb 
AgVrb.

H$.	 {VÀ`m gXñ`m§n¡H$s EH$ {ÛVr`m§emnojm H$‘r ZgVrb 
BVHo$ gXñ` ‘{hbm AgVrb.

S>.	 Cngan§M hm {VMm nX{gÕ AÜ`j Agob.

B©.	 J«m‘godH$ hm {VMm nX{gÕ gXñ`-g{Md Agob.
darbn¡H$s H$moUVr {dYmZo `mo½` AmhoV?
(1)	 ’$º$ A, ~, H$ Am{U S>
(2)	 ’$º$ ~, H$ Am{U B©
(3)	 ’$º$ A, ~, H$ Am{U B©
(4)	 darb gd©

�� Consider the following statements about the 
provisions of the Village Development Committees 
of Maharashtra Gram Panchayat Act : 
a.	 The total number of members in a Village 

Development Committee shall not be less than 
seven and not more than seventeen.

b.	 Not less than one-third of its members shall be from 
amongst the members of the Gram Panchayat.

c.	 Not less than one-half of the members shall be 
women.

d.	 The Deputy Sarpanch shall be its ex-officio 
chairman.

e.	 Gram Sevak shall be its ex-officio member-
secretary.

Which of the statements given above are correct?
(1)	 Only a, b, c and d 	 (2)	 Only b, c and e
(3)	 Only a, b, c and e 	 (4)	 All of the above

3.	 "gaH$m[a`m Am`moJ' ........ `mgmR>r AZwHy$b hmoVo.
(1)	 amÁ`nmb nX aÔ H$amdo 	
(2)	 ApIb ^maVr` godm aÔ H$amì`mV
(3)	 Am§Va-amÁ` n[afX aÔ H$amdr	
(4)	 darbn¡H$s EH$hr Zmhr 

�� The 'Sarkaria Commission' favoured .........
(1)	 abolition of the office of the Governor 
(2)	 abolition of All India Services 
(3)	 abolition of Inter-State Council 
(4)	 None of the above 

4.	 amÁ`mÀ`m ‘hm{Ydº$`mg§~§Yr Imbrbn¡H$s H$moUVo {dYmZ 
~amo~a Amho?
(1)	 Vmo amÁ`mÀ`m ‘§Ìr n[afXoMr B©ÀN>m Agon`ªV Amnë`m 

nXmda amhÿ eH$Vmo.
(2)	 Ë`mMo ‘mZYZ amÁ` {d{Y‘§S>imÛmao {Z{íMV Ho$bo OmVo.
(3)	 Vmo amÁ`emgZm{déÕ Agboë`m IQ>ë`mV ImOJr 

njH$mamgmR>r dH$sb åhUyZ C^m amhÿ eH$Vmo.
(4)	 darbn¡H$s EH$hr Zmhr.
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�� Which one of the following statements is correct 
about the Advocate General of the State?
(1)	 He shall hold office during the pleasure of the 

State Council of Ministers.
(2)	 His remuneration is determined by the State 

Legislature.
(3)	 He may appear as an advocate in cases against the 

State Government for a private party. 
(4)	 None of the above

5.	 {dYmZ (A) : g§gXr` nÕVr‘Ü`o àemgZmdarb H$m`Xo‘§S>imMo 
{Z`§ÌU AÜ`jr` nÕVrnojm {^Þ AgVo.
H$maU (~) : àemgZmda H$m`Xo‘§S>imMo {Z`§ÌU ho bmoH$gÎmmH$ 
emgZm§Mo ‘hÎdmMo d¡{eï>` Amho. 
(1)	 "A' Am{U "~' XmoÝhrhr ~amo~a Am{U "~' ho "A' Mo 

`mo½` ñnï>rH$aU Amho. 
(2)	 "A' Am{U "~' XmoÝhrhr ~amo~a, na§Vw "~' ho "A' Mo 

`mo½` ñnï>rH$aU Zmhr. 
(3)	 "A' ho ~amo~a Amho, na§Vw "~' ho MwH$sMo Amho. 
(4)	 "A' ho MwH$sMo Amho, na§Vw "~' ho ~amo~a Amho. 

�� Assertion (A) : Legislative control over administration 
in a Parliamentary system is different from that of 
Presidential system. 
Reason (B) : An important feature of democratic 
government is the legislative control over 

administration. 
(1)	 Both 'A' and 'B' are true and 'B' is the correct 

explanation of 'A'. 
(2)	 Both 'A' and 'B' are true, but 'B' is not the correct 

explanation of 'A'.
(3)	 'A' is true, but 'B' is false.
(4)	 'A' is false, but 'B' is true.

6.	 "AW© {dYo`H$m' ~m~VrV Imbrbn¡H$s H$moUVo {dYmZ/Zo 
~amo~a Amho/AmhoV?
A.	 Vo ‘§Ìr qH$dm ImOJr gXñ` ‘m§Sy> eH$Vmo.
~.	 Vo amÁ`nmbm§À`m {e’$maer{edm` ‘m§S>Vm `oV Zmhr.
H$.	 EImXo {dYo`H$ AW©{dYo`H$ Amho qH$dm Zmhr Agm àíZ 

CnpñWV Pmë`mg amÁ`nmbm§Mm {ZU©` A§{V‘ AgVmo.
S>.	 Oa XmoÝhr g^mJ¥hm§‘Ü`o AW©{dYo`H$m~m~V {Z‘m©U 

Pmë`mg amÁ`nmb {dYmZg^m Am{U {dYmZ n[afXoMr 
g§`wº$ ~¡R>H$ ~mobmdy eH$VmV.

n`m©`r CÎmao :
(1)	 ’$º$ A Am{U ~ 	 (2)	 ’$º$ ~ 
(3)	 ’$º$ A, ~ Am{U H$ 	 (4)	 ’$º$ A, H$ Am{U S> 

�� Which of the following statements related to 'Money 
Bill' is/are correct? 
a.	 It can be introduced either by a minister or by a 

private member. 
b.	 It cannot be introduced except on the 

recommendation of the Governor.

c.	 If any question arises whether the bill is a money 
bill or not, the decision of the Governor is final.

d.	 In case of a deadlock over a money bill, the 
Governor can summon a joint sitting of Legislative 
Assembly and Legislative Council.

Answer Options : 
(1)	 Only a and b 	 (2)	 Only b 
(3)	 Only a, b and c 	 (4)	 Only a, c and d 

7.	 ^maVr` g§gXobm amÁ`gyMrVrb H$moUË`mhr {df`m~m~V amï´>r` 
{hVmgmR>r H$m`Xm H$aÊ`mMm A{YH$ma Amho Oa VËg§~§Yr 
....... Zo R>amd ‘§Oya Ho$bm Va.
(1)	 bmoH$g^oZo {VÀ`m EHy$U gXñ` g§»`oÀ`m ~hþ‘VmZo
(2)	 bmoH$g^oZo {VÀ`m EHy$U gXñ` g§»`oÀ`m XmoZ-V¥Vr`m§e 

nojm H$‘r Zmhr BVŠ`m ~hþ‘VmZo
(3)	 amÁ`g^oZo {VÀ`m EHy$U gXñ` g§»`oÀ`m ~hþ‘VmZo
(4)	 amÁ`g^oZo hOa amhÿZ ‘VXmZ H$aUmè`m XmoZ-V¥Vr`m§e 

gXñ` g§»`onojm H$‘r Zmhr BVŠ`m ~hþ‘VmZo
�� The Parliament of India acquires the power to 

legislate on any subject in the State. List in national 
interest if a resolution to that effect is passed by the 
(1)	 Lok Sabha by a majority of its total membership. 
(2)	 Lok Sabha by a majority of not less than two-thirds 

of its total membership.
(3)	 Rajya Sabha by a majority of its total membership. 
(4)	 Rajya Sabha by a majority of not less than 

two-thirds of its members present and voting.

8.	 ‘hmamï´>mÀ`m g§X^m©V Imbrb {dYmZo {dMmamV ¿`m : 
A.	 {Oëhm n[afXoMr ~¡R>H$ O|ìhm Amdí`H$ Agob V|ìhm 

^a{dVm ̀ oB©b na§Vw ‘mJrb ~¡R>H$ Am{U nwT>rb ~¡R>H$sÀ`m 
VmaIoV EH$ ‘{hÝ`mnojm OmñV A§Va Zgmdo.

~.	 {Oëhm n[afX AÜ`j EH$-n§M‘m§enojm H$‘r Zmhr 
BVŠ`m gXñ`m§À`m boIr {dZ§VrZwgma {deof ~¡R>H$ 
~mobmdy eH$VmV.

H$.	 àË`oH$ ~¡R>H$sMo AÜ`jñWmZ-AÜ`jmZo Am{U Ë`mÀ`m 
AZwnpñWVr‘Ü`o CnmÜ`jmZo ^yf{dbo nm{hOo.

S>.	 AÜ`j Am{U CnmÜ`j ̀ m§À`m AZwnpñWVr‘Ü`o ~¡R>H$sMo 
AÜ`jñWmZ {df` g{‘VrMm g^mnVr ^yfdrb. 

darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
(1)	 ’$º$ A ~ Am{U H$ 	 (2)	 ’$º$ ~, H$ Am{U S>
(3)	 ’$º$ ~ Am{U H$ 	 (4)	darb gd©

�� Consider the following statements with reference to 
Maharashtra :
a.	 Zilla Parishad may meet as often as may be 

necessary, but one month shall not intervene its 
last meeting and the date of its next meeting.

b.	 The President of Zilla Parishad shall call a special 
meeting on the written request of not less than 
one-fifth members.
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c.	 Every meeting shall be presided over by the 
President, or if he is absent, the Vice President 
shall preside over it. In the absence of President 
and Vice President, the meeting shall be presided 
over by the Chairman of subject committee.

Which of the above statements are correct? 
(1)	 Only a, b and c	 (2)	 Only b, c and d
(3)	 Only b and c 	 (4)	 All of the above 

9.	 gd©gmYmaUnUo, amÁ`mÀ`m Cƒ Ý`m`mb`m‘Ü`o ‘w»` 
Ý`m`mYre Am{U ....... g‘mdoe AgVmo. 
(1)	 BVa ZD$ Ý`m`mYrem§Mm 	
(2)	 amÁ`nmb R>a{db BVHo$ BVa Ý`m`mYrem§Mm
(3)	 g§gX R>a{db BVHo$ BVa Ý`m`mYrem§Mm
(4)	 amï´>nVr R>a{db BVHo$ BVa Ý`m`mYrem§Mm

�� Generally, the High Court of a State consists of a 
Chief Justice and -
(1)	 nine other Judges 
(2)	 such other Judges as may be determined by the 

Governor
(3)	 such other Judges as may be determined by the 

Parliament 
(4)	 such other Judges as may be determined by the 

President 

10.	 amÁ`KQ>Zm {Z{‘©VrMr O~m~Xmar d H$m`} nma nmÊ`mgmR>r 
KQ>Zmg{‘VrZo {d{dY g{‘Ë`m ñWmnZ Ho$ë`m hmoË`m. Ë`mV 
H$m`©nÕVr{df`H$ {Z`‘ g{‘VrMo AÜ`j åhUZ Imbrbn¡H$s 
H$m AÜ`j åhUyZ Imbrbn¡H$s H$moUr H$m‘ Ho$bo?

(1)	 S>m°. ~r.Ama. Am§~oS>H$a 
(2)	 A„mXr H¥$îUñdm‘r Aæ`a
(3)	 S>m°. amO|Ð àgmX 
(4)	 S>m°. Ho$.E‘. ‘wÝer

�� The Constituent Assembly appointed a number of 
committees to deal with different tasks and works of 
Constitution-making. Who was the Chairman of the 
Rules of Procedure Committee?
(1)	 Dr. B.R. Ambedkar 	
(2)	 Alladi Krishnaswami Ayyar
(3)	 Dr. Rajendra Prasad 
(4)	 Dr. K.M. Munshi 

11.	 `mo½` OmoS>çm bmdm : 
	 "A'	 "~'
(A)	 ~miemór Om§^oH$a 	 I.	 {dYdmJ¥hmMr ñWmnZm
(~)	 Jmonmi h[a Xoe‘wI 	 II.	 ór{ejUmMo n{hbo
			   nwañH$V}
(H$)	 ‘hmË‘m OmoVr~m ’w$bo	 III.	 nwZ{d©dmhmoVoOH$ ‘§S>ir
(S>)	 ‘h{f© Ym|S>mo Ho$ed H$d} 	 IV.	 AZmW ~mbH$ml‘

n`m©`r CÎmao : 

		 A	 ~	 H$	 S>
(1)	 III	 IV	 II	 I
(2)	 II	 III	 IV	 I
(3)	 II	 III	 I	 IV
(4)	 III	 II	 IV	 I 

�� Match the pairs : 
	              'A'		          'B'
a.	 Balshastri Jambhekar	 I.	 Establishment of 	

		  Widow Home
b.	 Gopal Hari Deshmukh	 II.	 First supporter of 	

		  female education
c.	 Mahatma Jotiba Phule 	 III.	 Congregation for 	

		  remarriage
d.	 Maharshi Dhondo	 IV.	 Orphanage
	 Keshav Karve
Answer Options : 
		 a	 b	 c	 d 
(1)	 III	 IV	 II 	 I
(2)	 II	 III	 IV	 I 
(3)	 II	 III	 I	 IV
(4)	 III	 II	 IV	 I

12.	 1932 gmbr ^maVr` C`moOH$m§Zr n{hbr {d‘mZ H§$nZr gwê$ 
Ho$br : 

A.	 B§{S>`Z Z°eZb EAadoO 
~.	 Q>mQ>m EAadoO {b.
H$.	 Bpån[aAb EAadoO 
S>.	 B§{S>`Z Q´mÝg-H$m°pÝQ>ZoÝQ>b EAadoO {b.
n`m©`r CÎmao : 
(1)	 ’$º$ A Am{U ~	 (2)	 ’$º$ H$ Am{U S>
(3)	 ’$º$ ~	 (4)	 ’$º$ A  

�� The first Aviation Company that was started in 1932 
by an Indian Industrialist was :  
a.	 Indian National Airways
b.	 Tata Airways Ltd. 
c.	 Imperial Airways
d.	 Indian Trans-Continental Airways Ltd.
Answer Options :
(1)	 Only a and b 	 (2)	 Only c and d
(3)	 Only b 	 (4)	 Only a 

13.	 "XoemMr Iar CÞVr ìhmd`mMr Agob Va àW‘ CÞV Y‘m©Mm 
àgma Pmbm nm{hOo. Omon`ªV Y‘©OmJ¥Vr hmoV Zmhr Vmon`ªV Iao 
`e {‘iUma Zmhr.' Ago `m§Mo ‘V hmoVo.
A.	 S>m°. ^m§S>maH$a Jmo.J. 
~.	 Ý`m`‘yVu amZS>o
H$.	 Ý`m`‘yVu Vob§J 
S>.	 S>m°. AmË‘mam‘ nm§Sw>a§J VI©S>H$a 
n`m©`r CÎmao : 
(1)	 ’$º$ A Am{U S> 	 (2)	 ’$º$ A Am{U ~
(3)	 ’$º$ S> 	 (4)	 ’$º$ A
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�� ''For realistic progress of the nation, progressive 
religion should be spread out. As long as religious 
awareness is happening, till then realistic success is 
not achieved.'' This opinion was of 
a.	 Dr. Bhandarkar G.G. 
b.	 Justice Ranade
c.	 Justice Telang 
d.	 Dr. Atmaram Pandurang Turkhadkar
Answer Options :
(1)	 Only a and d 	 (2)	 Only a and b
(3)	 Only d 	 (4)	 Only a 

14.	 Zmam`U ‘oKmOr bmoI§S>o ̀ m§Zr H$moUË`m d¥ÎmnÌmVyZ H$m‘Jmam§À`m 
àíZm§Zm dmMm ’$moS>bm?
(1)	 g‘mMma M§{XH$m 	 (2)	à^mH$a 
(3)	 XrZ~§Yy 	 (4)	kmZàH$me

�� Narayan Meghaji Lokhande presented the questions 
of workers in which of the following newspapers?
(1)	 Samachar Chandrika 	 (2)	 Prabhakar
(3)	 Deenbandhu 	 (4)	 Dnyanprakash

15.	 Imbrb OmoS>çm bmdm : 
	    "A'		       "~'
A.	 n§S>rVm a‘m~mB© 	 I.	 "ór-nwéf VwbZm' J«§W
~.	 a‘m~mB© amZS>o 	 II.	 {Zam{lV godmgXZmMr ñWmnZm
H$.	 Vmam~mB© qeXo 	 III.	 "emaXm gXZ' Mr ñWmnZm
S>.	 OZm¸$m qeXo 	 IV.	 "qhXy boS>rO gmoeb Šb~' Mr 
				    ñWmnZm
n`m©`r CÎmao : 
		 A	 ~	 H$	 S>
(1)	 II	 III	 IV	 I
(2)	 I	 IV	 III	 II
(3)	 III	 IV	 I	 II
(4)	 IV	 II	 III	 I 

�� Match the following:
a.	 Pandita Ramabai 	 I.	 'Stree-Purush Tulana' 	

			   Book 
b.	 Ramabai Ranade 	 II.	 Establishment of 
				    'Nirashrit Seva Sadan'
c. 	 Tarabai Shinde	 III.	 Establishment of 	

			   'Sharada Sadan'
d.	 Janakka Shinde 	 IV.	 Establishment of 
				    Hindu Ladies Social 	

			   Club'
Answer Options : 
		 a	 b	 c	 d
(1)	 II	 III	 IV	 I
(2)	 I 	 IV	 III	 II
(3)	 III	 IV	 I	 II
(4)	 IV	 II	 III	 I 

16.	 B.g. 1849 ‘Ü`o ‘w§~B© `oWo ñWmnZ Pmboë`m na‘h§g g^oMm 
Imbrbn¡H$s H$moUË`m gwYmaUmda ^a hmoVm?
A.	 {dYdm nwZ{d©dmh 	 ~.	 ór{ejU
H$.	 OmVr~§YZo VmoS>Uo 	 S>.	 ‘yVunyOm ‘mÝ`
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
(1)	 ’$º$ A Am{U ~ 	 (2)	 ’$º$ ~ Am{U H$
(3)	 ’$º$ H$ 	 (4)	 ’$º$ A, H$ Am{U S>

�� Paramhans Sabha was established at Mumbai in 
1849 and gave the emphasis on the following reforms:
a.	 Widow Remarriage
b.	 Women's Education
c.	 Break the Caste Barrier
d.	 Acceptance of Idol Worship 
Which of the statements given above is/are correct?
(1)	 Only a and b 	 (2)	 Only b and c
(3)	 Only c 	 (4)	 Only a,c and d 

17.	 ^maVr` H$m‘Jma dJm©Mm CX` d H$m‘Jma Midi `m{df`r 
OmoS>r `m{df`r OmoS>çm bmdm : 
A.	 Zmam`U ‘oKmOr bmoI§S>o 	 I.	 Am°b B§{S>`m Q´oS> `w{Z`Z	

		  H$m±J«ogMo 	n{hbo AÜ`j
~.	 ‘hmË‘m Jm§Yr	 II.	 ‘Ðmg bo~a `w{Z`Z `m	

		  H$m‘Jma g§KQ>ZoMr
			   ñWmnZm
H$.	 ~r.nr. dm{S>`m 	 III.	 Ah‘Xm~mX Q>oŠgQ>mB©b 	

		  bo~a Agmo{eEeZMr 	
		  ñWmnZm

S>.	 bmbm bmOnVam`	 IV.	 XrZ~§Yy d¥ÎmnÌmVyZ 	
		  H$m‘Jmam§Mo àíZ ‘m§S>bo

n`m©`r CÎmao : 
		 A	 ~	 H$	 S>
(1)	 IV	 III	 II	 I
(2)	 III	 IV	 I	 II
(3)	 II	 I	 IV	 III
(4)	 IV	 I	 II	 III

�� Match the following regarding and emergence of 
Indian workers and Labour movement: 
a.	 Narayan Meghaji 	 I.	 First President of 	

Lokhande		  All India Trade Union	
		  Congress 

b.	 Mahatma Gandhi 	 II.	 Establishment of 		
		  Madras Labour Union.

c.	 B.P. Wadia 	 III.	 Establishment of 		
		  Ahmedabad Textile 		
		  Labour Association

d.	 Lala Lajpat Rai	 IV.	 Placed the problems 	
		  of labour through 		
	        Deenbandhu newspaper
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Answer Options : 
		 a	 b	 c	 d
(1)	 IV	 III	 II	 I 
(2)	 III	 IV	 I	 II
(3)	 II	 I	 IV	 III
(4)	 IV	 I	 II	 III 

18.	 dgmhVdmXmMo ^maVr`mÀ`m OrdZmda Pmboë¶m n[aUm‘mg§~§{YV Imbrb {dMma/{dYmZ H$moUr ‘m§S>bo?
A.	 qhXwñWmZMr bú‘r X`m©nma OmD$ bmJbr.
~.	 Am{W©H$ {Z…gmaUm‘wio OJmVrb gdm©V g‘¥Õ Xoemg X[aÐr ~Zdbo Amho.
H$.	 ^maVmMo Am{W©H$ emofU ho I§S>UrgmaIo Amho.
S>.	 hmVr Vbdma Yê$Z Amnë`m ì`mnmamMr ì¶dñWm bmdÊ`mMr doi Ambr Amho.
n`m©`r CÎmao : 

A	 ~	 H$	 S>
(1)	 a‘oe M§Ð XÎm	 Ý`m`‘yVu amZS>o	 ga Om°O© Am°ŠP|S>Z	 bmoH${hVdmXr Jmonmi h[a Xoe‘wI
(2)	 Ý`m`‘yVu amZS>o	 ga Om°O© Am°ŠP|S>Z	 a‘oe M§Ð XÎm	 bmoH${hVdmXr Jmonmi h[a Xoe‘wI
(3)	 bmoH${hVdmXr Jmonmi	 a‘oe M§X XÎm	 Ý`m`‘Vu amZS>o	 ga Om°O© Am°ŠP|S>Z
	 h[a Xoe‘wI
(4)	 Ý`m`‘yVu amZS>o 	 bmoH${hVdmXr	 ga Om°O© Am°ŠP|S>Z	 a‘oe M§Ð XÎm 
			   Jmonmi h[a Xoe‘wI

�� Who made the following thoughts/statements regarding the effects of colonialisme Indians? 
a.	 Indian economy ran overseas. 
b.	 Due to economic abstraction, world known enriched India became poverty stricken.
c.	 An exploitation of Indian economy is like Ransom.
d.	 By taking sword in hand it is time to manage our business.
Answer Options : 

	A	 B	 C	 D
(1)	 Ramesh Chandra	 Justice	 Sir George	 Lokhitwadi Gopal
	 Dutt 		  Ranade 	 Oxenden 	 Hari Deshmukh
(2)	 Justice Ranade	 Sir George	 Ramesh 	 Lokhitwadi Gopal
			   Oxenden 	 Chandra Dutt	 Hari Deshmukh
(3)	 Lokhitwadi Gopal	 Ramesh 	 Justice Ranade	 Sir George Oxenden
	 Hari Deshmukh	 Chandra Dutt
(4)	 Justice Ranade	 Lokhitwadi 	 Sir George 	 Ramesh Chandra
			   Gopal Hari 	 Oxenden 	 Dutt
			   Deshmukh

19.	 XmXm^mB© Zm¡amoOtÀ`m ‘Vo, "....... Mo {Z…gmaU hmoVo, na§Vw VoM 
Oa ̂ maVmV Jw§Vdbo AgVo, Va ‘moR>çm à‘mUmV Am{W©H$ {dH$mg 
nhmd`mg {‘imbm AgVm.' Jmiboë`m OmJm Imbrbn¡H$s 
`mo½` n`m©`mZo ^am.
(1)	 hñVmoÚmoJ CËnmXZ 	
(2)	 ^maVr` MbZ 
(3)	 H$mngmMo g§nyU© CËnmXZ
(4)	 g§^mì` A{Yeof

�� According to Dadabhai Naoroji, What was being 
drained out was - that could generate more economic 
development if invested in India.' Fill in the blanks 
with the given right option.
(1)	 Handicraft production 

(2)	 Indian currency
(3)	 Entire cotton production 
(4)	 Potential surplus 

20.	 {~«{Q>e H$mimV eoVrÀ`m ì`mnmarH$aUm‘wio nwT>rbn¡H$s H$moUË`m 
{nH$mÀ`m CËnmXZmV dmT> Pmbr? 
A.	 Mhm, Jhÿ 	 ~.	 D$g, H$mnyg 
H$.	 VmJ, Zri	 S>.	 V§~mIy, A’y$

darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV? 

(1)	 ’$º$ A Am{U ~	 (2)	 ’$º$ A, H$ Am{U S>  
(3)	 ’$º$ ~, H$ Am{U S>	 (4)	darb gd© ~amo~a AmhoV

�� Which of the following crops production increased 
due to commercialization of agriculture during 
British Period? 
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a.	 Tea, Wheat 	 b.	 Sugarcane, Cotton
c. 	 Jute, Indigo	 d.  	 Tobacco, Opium

Which of the statements given above are correct? 
(1)	 Only a and b 	 (2)	 Only a, c and d
(3)	 Only b, c and d 	 (4)	 All of the above 

21.	 n§{S>Vm a‘m~mBªZm {~«{Q>e gaH$maZo H$moUVm {H$Vm~ {Xbm hmoVm?
(1)	 H¡$ga-E-qhX 	 (2)	H¡$ga-E-qhXy 
(3)	 H¡$ga-E-boS>r 	 (4)	 B§{S>`Z gwna boS>r

�� Which award was given to Pandita Ramabai by the 
British Government?
(1)	 Kaisar-e-Hind 	 (2)	 Kaisar-e-Hindu
(3)	 Kaisar-e-Lady 	 (4)	 Indian Super Lady 

22.	 Am{Xdmgr eoVH$è`m§À`m H«$m§VrMm n{hbm Zm`H$ H$moU hmoVm?
A.	 ~m~m ^m§S> 	 ~.	 {~O{Z`m 
H$.	 H$Oa qgJ 	 S>.	 V§Q>çm {^„
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
(1)	 ’$º$ A Am{U ~ 	 (2)	 ’$º$ H$ Am{U S>
(3)	 ’$º$ ~ 	 (4)	 ’$º$ S>

�� Who was the first leader of the revolution of native 
for farmers?
a.	 Baba Bhand 	 b.	 Bijania 
c.	 Kajara Singh 	 d.	 Tantya Bhilla 
Which of the statements given above is/are correct?
(1)	 Only a and b 	 (2)	 Only c and d 
(3)	 Only b 	 (4)	 Only d 

23.	 ZmJar CR>mdm§Mr gwédmV Imbrbn¡H$s H$moUË`m àXoem§VyZ Pmbr? 
(1)	 n§Om~ Am{U qgY 
(2)	 ‘hmamï´> Am{U H$Zm©Q>H$
(3)	 Am§Y« àXoe Am{U Amo[agm 
(4)	 ~§Jmb Am{U {~hma

�� The Civil Rebellion began from which of the follow-
ing regions?
(1)	 Punjab and Sindh 
(2)	 Maharashtra and Karnataka
(3	 Andhra Pradesh and Orissa	
(4)	 Bengal and Bihar 

24.	 Imbrb {ddaUmdê$Z ór-‘wº$sgmR>r H$moUr H$m`© Ho$bo, Vo AmoiIm :
A.	 "emaXm' `m bmoH${à` ZmQ>H$mV ~mb{ddmhmMm àíZ ‘m§S>bm.
~.	 h§Q>a H${‘eZnwT>o ór-{ejUmMr pñWVr AmH$S>odmargh à^mdrnUo ‘m§S>br.
H$.	 {dYdm {ó`m§À`mgmR>r "emaXml‘' hr g§ñWm ñWmnZ Ho$br. 
S>.	 "‘mPo nwamU' ho AmË‘M[aÌ {b{hbo.
n`m©`r CÎmao : 

	A	 ~	 H$	 S>
(1)	 n§{S>Vm a‘m~mB© 	 JmoqdX ~„mi	 AmZ§Xr~mB© H$d}	 a‘m~mB© amZS>o
(2)	 a‘m~mB© amZS>o 	 AmZ§Xr~mB© H$d} 	 n§{S>Vm a‘m~mB© 	 JmoqdX ~„mi
(3)	 {dÚm~oZ {ZiH§$R> 	 a‘m~mB© amZS>o 	 AmZ§Xr~mB© H$d} 	 JmoqdX ~„mi
(4)	 JmoqdX ~„mi 	 n§{S>Vm a‘m~mB© 	 a‘m~mB© amZS>o 	 AmZ§Xr~mB© H$d}

�� Identify the following people who have done work for emancipation of women: 
a.	 The problem of child marriage was placed in the famous Drama : 'Sharda'.
b.	 Before the Hunter Commission, the condition of women's education was placed in numerical data. 
c.	 'Shardashram' was established for widows.
d.	 Maze Puran' an autobiography was written.
Answer Options : 

	a 	 b	 c	 d
(1)	 Pandita Ramabai	 Govind Ballal	 Anandibai Karve	 Ramabai Ranade
(2)	 Ramabai Ranade	 Anandibai Karve	 Pandita Ramabai 	 Govind Ballal
(3)	 Vidhyaben 	 Ramabai Ranade	 Anandibai Karve	 Govind Ballal
	 Nilkanth
(4)	 Govind Ballal	 Pandita Ramabai	 Ramabai Ranade	 Anandibai Karve 

25.	 1857 À`m CR>mdm{df`r Imbrbn¡H$s H$moUVr {dYmZo ~amo~a Amho? 
A.	 ^moaMo n§Vg{Md {M‘UmOr aKwZmW (àW‘) `m§Zr a§Jmo 

~mnyOr Jwáo `m§Zm {dídmgKmVmZo B§J«Om§À`m hdmbr Ho$bo.
~.	 ZmJnyaÀ`m ^mogbo KamÊ`mVrb amUr ~mH$m~mB© `m§Zr 

~§S>dmë`m§Zm nmqR>~m {Xbm.
H$.	 H$moëhmnyaÀ¶m N>ÌnVtÀ`m KamÊ`mVrb {M‘mgmho~ 

CR>mdmV gm‘rb Pmbo.

S>.	 a§Jmo ~mnyOr JwáoMo {Ma§Ord grVmam‘n§V d gmd§VdmS>rMo 
am‘Or {eagmi `m§Zrhr CR>md Ho$bm.

n`m©`r CÎmao :
(1)	 ’$º$ A Am{U H$ 	 (2)	 ’$º$ ~, H$ Am{U S>
(3)	 ’$º$ A, H$ Am{U S> 	 (4)	 ’$º$ H$ Am{U S>

�� Which of the following statements are true regarding 
the Revolt of 1857? 
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a.	 With treacherous attitude Pant Sachiv of Bhor 
Chimnaji Raghunath (first) tendered Rango Bapuji 
Gupte to Britishers.

b.	 Rani Bakabai of Nagpur Bhosale Dynasty 
supported the revolters. 

c.	 Chimasaheb of Kolhapur Chhatrapati Dynasty 
participated in revolt.

d.	 Son of Rango Bapuji Gupte Sitarampant and 
Ramji Shirsal of Sawantwadi also participated in 
the Revolt.

Answer Options :
(1)	 Only a and c 	 (2)	 Only b, c and d
(3)	 Only a, c and d 	 (4)	 Only c and d

 26.	 ^maVmVrb gdm©V bm§~ amï´>r` ‘hm‘mJ© ....... Amho.

(1)	 NH 44	 (2)	NH 01
(3)	 NH 48	 (4)	NH 06 

�� The longest National Highway in India is -
(1)	 NH 44 	 (2)	 NH 01 
(3)	 NH 48 	 (4)	 NH 06 

27.	 Am¡Úmo{JH$ {d^mJ Am{U Am¡Úmo{JH$ joÌ `m§À`m OmoS>çm bmdm:

A.	 Zm{eH$ 	 I.	 ~wQ>r~moar

~.	 H$moëhmnya 	 II.	 e|Ðm

H$.	 ZmJnya		 III.	 qdMya

S>.	 Am¡a§Jm~mX 	 IV.	hþnar
n`m©`r CÎmao : 
	 A		 ~	 H$	 S>

(1)	 IV	 III	 II	 I

(2)	 III	 I	 II	 IV

(3)	 III	 I	 IV	 II

(4)	 III	 IV	 I	 II
�� Match the Industrial Regions and Industrial Areas :

a.	 Nashik 	 I.	 Butibori
b.	 Kolhapur 	 II.	 Shendra
c.	 Nagpur 	 III.	 Vinchur 
d. 	 Aurangabad 	 IV.	 Hupari 
Answer Options : 
		 a	 b	 c	 d
(1)	 IV	 III	 II	 I
(2)	 III	 I	 II	 IV
(3)	 III	 I	 IV	 II 
(4)	 III	 IV	 I	 II

28.	 Am¡a§Jm~mX Am¡Úmo{JH$ ehamMr R>iH$ d¡{eîQ>ço :

A.	 gw{Z`mo{OV Am{U h[aVnÅ>o`w³V ñ‘mQ>© eha.

~.	 AURIC ho g§{já ê$n Amho.

H$.	 àH$ënmVrb EHy$U Jw§VdUyH$ 1,000 H$moQ>r én`o.
S>.	 {X„r-‘w§~B© Am¡Úmo{JH$ nÅ>`mMm (H$m°[aS>m°aMm) ^mJ 

Amho. >>

AMyH$ n`m©` {ZdS>m : 
(1)	 ’$º$ A	 (2)	 ’$º$ A Am{U ~
(3)	 ’$º$ A, ~ Am{U H$	 (4)	 ’$º$ A, ~ Am{U 

�� The salient features of Aurangabad Industrial City :
a.	 Well-planned and greenfield smart city.
b.	 The abbreviation is AURIC.
c.	 The total investment will be <1,000 crs.
d.	 It is a part of Delhi-Mumbai industrial corridor.
Choose the correct option :
(1)	 Only a 	 (2)	 Only a and b
(3)	 Only a, b and c 	 (4)	 Only a, b and d 

29.	 gZ 1981 Vo 2011 `m H$mbmdYrVrb ^maVr` bmoH$g§»`m 
dmT> Am{U H$mbgmnoj ~Xb H$moUVr bmoH$g§»`m g§H«$‘U 
AdñWm Xe©{dVo?
(1)	 Cƒ bmoH$g§»`m dmT>rMm H$mbmdYr, Varhr KQ>Vm H$b
(2)	 ObX bmoH$g§»`m dmT>rMm H$mbmdYr
(3)	 bmoH$g§»`m dmT>rVrb gmVË`
(4)	 pñWa bmoH$g§»`m H$mbmdYr

�� India's population growth and temporal changes 
during 1981 to 2011 indicates the population 
transition stage of 
(1)	 Period of High growth with declining trend
(2)	 Period of Rapid growth
(3)	 Period of Steady growth
(4)	 Period of Stagnant growth 

30.	 ^maVr` ‘yb^yV añVo gm§p»`H$s, 2017 Zwgma ^maVmVrb 
H$moUVo amÁ` amï´>r` ‘hm‘mJm©À`m bm§~r‘Ü`o Xwgè`m H«$‘m§H$mMo 
amÁ` Amho?
(1)	 ‘hmamï´> 	 (2)	 amOñWmZ 
(3)	 ‘Ü` àXoe 	 (4)	CÎma àXoe

�� Which State of India accounted for the second rank 
in National Highway length as per report of Basic 
Road Statistics of India, 2017?
(1)	 Maharashtra	 (2)	 Rajasthan 
(3)	 Madhya Pradesh. 	 (4)	 Uttar Pradesh

31.	 Imbrbn¡H$s H$moUVm àXoem ^maVmVrb Cƒ ^yH§$n Vrd«Vm 
{d^mJ Xe©{dVmo?
(1)	 ÛrnH$ënr` {d^mJ 
(2)	 H$mí‘ra Vo Amgm‘n`ªVMm {h‘mb`rZ {d^mJ
(3)	 ‘Ü` {d^mJ 
(4)	 J§JoMo ‘¡XmZ 

�� Which one of the following regions indicates the 
example of high intensity zone of earthquake in 
India?
(1)	 The Zone of Peninsula 
(2)	 Himalayan Belt from Kashmir to Assam
(3)	 Central Zone 
(4)	 Ganga Plain 
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32.	 2011 À`m OZJUZoà‘mUo ‘hmamï´>mVrb ZmJarH$aUm~m~V 
H$moUVo/H$moUVr dmŠ` MwH$sMo Amho/AmhoV?
A.	 ZmJar bmoH$g§»`oMr Q>¸o$dmar 45-23 Amho.
~.	 ‘hmamï´>mMm ZmJar bmoH$g§»`oV Vrgam H«$‘m§H$ bmJVmo.
H$.	 ‘hmamï´>mMr ZmJar bmoH$g§»`m 5,08,27,500 BVH$s Amho.
S>.	 ‘hmamï´>mVrb Z§Xwa~ma {Oëh`mMr ZmJarH$aUmMr nmVir 

gdm©V H$‘r Amho.
n`m©`r CÎmao :
(1)	 ’$º$ A Am{U ~ 	 (2)	 ’$º$ H$
(3)	 ’$º$ A Am{U H$	 (4)	 ’$º$ S> 

�� As per 2011 Census, which sentences is/are false for 
urbanization in Maharashtra?
a.	 The percentage of urban population is 45:23.
b.	 Maharashtra stands third in urban population.
c.	 Urban population of Maharashtra is 5,08,27,500.
d.	 The lowest urbanization level is in the Nandurbar 

district of Maharashtra.
Answer Options :
(1)	 Only a and b	 (2)	 Only c
(3)	 Only a and c	 (4)	 Only d 

33.	 ‘hmamï´>mVrb ObqgMZ `moOZm d Ë`m§Mo {Oëhoo ¶m§§À`m `mo½¶ 
OmoS>`m bmdm : 
	 {Oëhm		 OcqgMZ ¶moOZm 
A.	 gmVmam 	 I.	 ‘wH$Uo
~.	 Zm{eH$ 	 II.	 {dîUwnwar
H$.	 Zm§XoS> 		 III.	 H$Êhoa
S>.	 `dV‘mi 	 IV.	 ~|~bm
n`m©`r CÎmao : 
		 A	 ~ 	 H$	 S>
(1)	 II	 III	 IV	 I
(2)	 III	 I 	 II	 IV
(3)	 III	 IV 	 I 	 II
(4)	 IV 	 II 	 III 	 I 

�� Match the correct pairs of Irrigation Schemes and 
Districts in Maharashtra. 
	 District 	 Irrigation Scheme
a.	 Satara 	 I.	 Mukane
b.	 Nashik 	 II.	 Vishnupuri
c.	 Nanded 	 III.	 Kanher
d.	 Yavatmal	 IV.	 Bembala
Answer Options : 
		 a	 b	 c	 d
(1)	 II	 III	 IV	 I
(2)	 III	 I	 II	 IV
(3)	 III	 IV	 I	 II
(4)	 IV	 II	 III	 I 

34.	 ^maVmVrb Z¡g{J©H$ dm`y Am{U I{ZO Vob CËnmXH$ amÁ` 
åhUOo ........
(1)	 Ho$ai 		 (2)	 {h‘mMb àXoe

(3)	 Jmodm 		 (4)	Amgm‘ 
�� The State which produces natural gas and mineral 

oil in India is ..........
(1)	 Kerala 	 (2)	 Himachal Pradesh
(3)	 Goa 		  (4)	 Assam 

35.	 Imbrbn¡H$s H$moUVm n¶m©¶ JmoXmdar ZXrÀ`m CnZÚm§Mm 
bm§~rZwgma MT>Vm H«$‘ Xe©{dVmo?
(1)	 àmU{hVm, àdam, dYm©, ‘m§Oam 
(2)	 ‘m§Oam, dYm©, àdam, àmU{hVm
(3)	 àmU{hVm, dYm©, àdam, ‘m§Oam 
(4)	 ‘m§Oam, àdam, dYm©, àmU{hVm

�� Which of the following options shows the correct 
ascending order by length of the tributaries of 
Godavari river?
(1)	 Pranhita. Pravara. Wardha, Manjra 
(2)	 Manjra, Wardha, Pravara, Pranhita
(3)	 Pranhita, Wardha, Pravara, Manjra 
(4)	 Manjra, Pravara, Wardha, Pranhita 

36.	 ‘¥Xm {Z{‘©Vrda AmYm[aV, ‘hmamï´>mÀ`m ‘¥Xm dJuH$aUmMm 
gImob Am{U emór` Aä`mg gd©àW‘ gZ 1938 ‘Ü`o 
H$moUr Ho$bm?
(1)	 S>m°. S>r. pñ‘W 	
(2)	 S>m°. Ho$bm°J Am{U S>m°. Wm°n©
(3)	 S>m°. S>m°Š`wMoìh 
(4)	 S>m°. ~gy Am{U S>m°. {eéa

�� On the basis of soil formation, the first detailed 
and scientific soil classification of Maharashtra was 
done in 1938 by :
(1)	 Dr. D. Smith 
(2)	 Dr. Kellogg and Dr. Thorp
(3)	 Dr. Dokuchaev 
(4)	 Dr. Basu and Dr. Shirur

37.	 ‘hmamï´>mVrb H$m|H$U àmXo{eH$ {d^mJmVrb "‘Ü` H$m|H$U' 
‘Ü`o g‘m{dï> hmoUmè`m ImS>çm H$moUË`m?
(1)	 XodJS>, AmMam Am{U H$cu ImS>r 
(2)	 amOmnyar, ~mUH$moQ> Am{U Ho$ier ImS>r
(3)	 Ya‘Va, H$mbmdb Am{U VoaoImob ImS>r 
(4)	 S>hmUy, dgB© Am{U Xm{Vdao ImS>r

�� Which creeks are included in the 'Central Konkan' 
of Maharashtra's Konkan Regional Division? 
(1)	 Deogarh, Achara and Karli creeks 
(2)	 Rajapuri, Bankot and Kelshi creeks
(3)	 Dharamtar, Kalawal and Terekhol creeks 
(4)	 Dahanu, Vasai and Datiware creeks 

38.	 bjÛrn Am{U {‘{ZH$m°` ~oQ>o {d^º$ Pmbr AmhoV.
(1)	 AmR> A§e M°Zb‘wio 	 (2)	 ZD$ A§e M°Zb‘wio
(3)	 Xhm A§e M°Zb‘wio 	 (4)	eyÝ` A§e M°Zb‘wio
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�� The Laccadive islands and Minicoy islands are 
separated by 
(1)	 Eight Degree Channel (2)	 Nine Degree Channel
(3)	 Ten Degree Channel. 	 (4)	 Zero Degree Channel 

39.	 Or.Q>m. {ÌdmWm© `m§À`m hdm‘mZ dJuH$aUmZwgma, n{íM‘ 
{H$ZmanÅ>rdarb ‘¡XmZr ̂ mJ Am{U {Ìnwam amÁ`mV Imbrbn¡H$s 
H$moUË`m àH$maMo hdm‘mZ Amho?
(1)	 nd©Vr` AmÐ© hdm‘mZ 
(2)	 CîU H${Q>~§Yr` ewîH$ hdm‘mZ
(3)	 CîU H${Q>~§Yr` nmdgmir (‘mÝgyZ) hdm‘mZ
(4)	 CnmoîU H${Q>~§Yr` AmÐ© hdm‘mZ 

�� As Per G. T. Trewartha's climate classification, 
Western Coastal Plain and Tripura State exhibit 
which of the following types of climate?
(1)	 Humid Mountain Climate 
(2)	 Tropical Arid Climate 
(3)	 Tropical Monsoon Climate 
(4)	 Humid Sub-tropical Climate 

40.	 ‘hmamï´>mV Z¡F$Ë` ‘mog‘r dmè`mnmgyZ {‘iUmè`m nmdgmMr 
Q>¸o$dmar Imbrbn¡H$s {H$Vr Amho? 
(1)	 58% 	 (2)	 65% 	 (3)	 85% 	 (4)	 95%

�� Which of the following percentage indicates the 
proportion of rain received in Maharashtra from 
North-Western monsoon?
(1)	 58% 	 (2)	 65%	 (3)	 85% 	 (4)	 95%

41. 	 1995 ‘Ü`o ~±H$ J«mhH$m§À`m {ddmXm§Mo ñdñV Am{U ObX 
{ZnQ>mam H$aÊ`mgmR>r ....... gwê$ H$aÊ`mV Ambr. 
(1)	 {ddoH$nyU© {Z`‘ 	 (2)	J«mhH$ godm g{‘Vr
(3)	 ~±qH$J bmoH$nmb `moOZm	(4)	Am§Vaamï´>r` boIm nÕVr

�� ....... was introduced in 1995 for inexpensive and 
speedy settlement of bank customer disputes.
(1)	 Prudential Norms 
(2)	 Customer Service Committee
(3)	 Banking Ombudsman Scheme 
(4)	 International Accounting Practices 

42.	 Imbrb {dYmZo {dMmamV ¿`m. 
A.	 ñdmV§Í`mZ§Va, ̂ maV gaH$maZo Am°JñQ> 1948 ‘Ü`o amï´>r` 

CËnÞ g{‘VrMr {Z`wº$s Ho$br.
~.	 `m g{‘Vr‘Ü`o àm. nr.gr. ‘hmbZmo{~g, àm. S>r.Ama. 

JmS>Jri Am{U àm. ìhr.Ho$.Ama.ìhr. amd ̀ m§Mm g‘mdoe 
hmoVm.

H$.	 amï´>r` CËnÞ g{‘VrMm n{hbm Ahdmb 1951 ‘Ü`o 
Am{U A§{V‘ Ahdmb 1954 ‘Ü`o Ambm.

da {Xboë`m {dYmZm§n¡H$s H$moUVo {dYmZ/H$moUVr {dYmZo 
MwH$sMr Amho/AmhoV?
(1)	 ’$º$ A 	 (2)	 ’$º$ A Am{U ~
(3)	 ’$º$ A Am{U H$ 	 (4)	 ’$º$ ~ Am{U H$

�� Consider the following statements :
a.	 After Independence, the Government of India 

appointed the National Income Committee in 
August, 1948.

b.	 The committee consisted of Prof. P.C. Mahalanobis, 
Prof. D.R. Gadgil and Prof. V.K.R.V. Rao.

c.	 The first report of the National Income Committee 
appeared in 1951 and the final report in 1954.

Which of the statements given above is/are incorrect?
(1)	 Only a 	 (2)	 Only a and b
(3)	 Only a and c 	 (4)	 Only b and c 

43.	 J«m‘rU ^mJmVrb eoVr Am{U g§~§YrV CnH«$‘m§Zm àmoËgmhZ 
XoÊ`mgmR>r H$O©nwadR>m H$aUmar ........ hr {eIa g§ñWm Amho.
(1)	 [aPd© ~±H$ 	 (2)	 ñQ>oQ> ~±H$ Am°’$ B§{S>`m
(3)	 Zm~mS>© 	 (4)	darb gd© 

�� ....... is the apex organisation to provide credit for 
the promotion of agriculture and allied activities in 
rural areas.
(1)	 Reserve Bank 	 (2)	 State Bank of India
(3)	 NABARD 	 (4)	 All of the above 

44.	 H|$Xr` AW©g§H$ën 2021-22 ‘Ü`o H|$Ð gaH$maÀ`m CËnÞmMm 
gdm©V ‘moR>m òmoV H$moUVm Amho?
(1)	 dñVy Am{U godm H$a 
(2)	 H$O© KoUo Am{U BVa Xm{`Ëdo
(3)	 àmárH$a 
(4)	 H$m°nm}aoQ> H$a

�� What is the biggest source of income for the Central 
Government in the Union Budget 2021-22?
(1)	 GST	
(2)	 Borrowing and other liabilities
(3)	 Income Tax 
(4)	 Corporate Tax 

45.	 2011 À`m OZJUZoZwgma XoemVrb bmoH$g§»`oMr KZVm 
....... Amho. 
(1)	 117 à{V Mm¡.{H$.‘r.	 (2)	157 à{V Mm¡.{H$.‘r.
(3) 	282 à{V Mm¡.{H$.‘r. 	 (4)	382 à{V Mm¡.{H$.‘r.

�� According to the 2011 Census, the density of 
population in the country is ........
(1)	 117 per sq. km. 	 (2)	 157 per sq. km. 
(3)	 282 per sq. km. 	 (4)	 382 per sq. km. 

46.	 ^maVmVrb bmoH$g§»`oMr JwUmË‘H$ d¡{eï>¶o d 
eharH$aUmg§X^m©V H$moUVo {dYmZ ~amo~a Zmhr?
(1)	 XaS>moB© CËnÞmVrb dmT> d eharH$aU `m§Mm gH$mamË‘H$ 

g§~§Y Amho.
(2)	 eharH$aU d amoOJmadmT> `m§À`mV ghg§~§Y Zmhr.
(3)	 eharH$aUmgmo~V bmoH$m§À`m amhUr‘mZmÀ`m XOm©V dmT> 

hmoVo.
(4)	 eharH$aU d Xm[aÐ`aofoImbrb bmoH$g§»`m `m§À`mV 

ZH$mamË‘H$ g§~§Y Amho.
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�� Which of the following statements is not correct 
regarding qualitative characteristics of India's 
population and urbanisation?
(1)	 There is positive co-relation between per capital 

income and urbanisation.
(2) 	 There is no co-relation between urbanisation and 

employment.
(3)	 There is increase in standard of living with 

urbanisation.
(4)	 There is negative relationship between 

urbanisation and population below poverty line. 

47.	 ^maVr` ì`mnmar ~±H$ àUmbr‘Ü¶oo Imbrbn¡H$s ~mOmanoR>oMm 
H$moUVm ^mJ hm d¥ÕrH$maH$ d Z’$m {‘idyZ XoUmam Amho?
(1)	 å`wÀ`wAb ’§$S> 	 (2)	‘mo~mB©b ~±qH$J
(3)	 [aQ>ob ~±qH$J 	 (4)	 B§Q>aZoQ> ~±qH$J

�� Which of the following market segments is growth 
and profit oriented in the Indian Commercial Bank-
ing System?
(1)	 Mutual Funds 	 (2)	 Mobile Banking
(3)	 Retail Banking' 	 (4)	 Internet Banking 

48.	 ^maVr` eoVrVrb CËnmXH$Vm àm‘w»`mZo XmoZ ~m~tda Adb§~yZ 
Amho. Ë`m åhUOo : 
A.	 Vm§{ÌH$ KQ>H$ 	 ~.	 ‘Zwî`~i
H$.	 g§ñWmË‘H$ KQ>H$ 	 S>.	 qgMZ gw{dYm
n`m©`r CÎmao :
(1)	 ’$º$ A Am{U H$ 	 (2)	 ’$º$ A Am{U S>
(3)	 ’$º$ A Am{U ~ 	 (4)	 ’$º$ H$ Am{U S>

�� Productivity in Indian agriculture is mainly 
dependent on two sets of factors. Those are :
a.	 Technological Factors	 b.	 Human Resource
c.	 Institutional Factors 	 d.	 Irrigation Facilities
Answer Options :
(1)	 Only a and c 	 (2)	 Only a and d
(3)	 Only a and b 	 (4)	 Only c and d 

49.	 Imbrbn¡H$s {dÎmr` O~m~Xmar Am{U A§XmOnÌH$ ì¶dñWmnZ 
H$m`Xm, 2003 Mr H$moUVr C{Ôï>o/C{ÔîQ>o Amho/AmhoV?
A.	 H$mb~Õ H$m`©H«$‘m§VJ©V gaH$mar H$Om©da ‘`m©Xm {Z{íMV 

H$aUo.
~.	 ‘hgwbr VyQ> eyÝ` JmR>Uo Am{U {dÎmr` VyQ> H$‘r H$aUo.
H$.	 XrK©H$mbrZ g‘ï>r Am{W©H$ pñWaVm gw{ZpíMV 

H$aÊ`mgmR>r emgZmbm O~m~Xma ~Z{dUo.
S>.	 emgZmÀ`m Am{W©H$ H$m‘H$mOmV nmaXe©H$Vm gwYmaUo.
n`m©`r CÎmao :
(1)	 darbn¡H$s EH$hr Zmhr 	 (2)	darbn¡H$s gd© 
(3)	 ’$º$ A Am{U ~	 (4)	 ’$º$ H$ Am{U S>

�� Which of the following is/are the objectives of s/arc 
the objectives of Fiscal Responsibility and Burget 
Management Act, 2003?
a.	 To set limits on government borrowings under a 

time-bound programme.

b.	 To achieve zero revenue deficit and bring down 
fiscal deficits.

c.	 To make the government responsible for ensuring 
long term macroeconomic stability.

d. 	 Improving transparency in the fiscal operations of 
the government. 

Answer Options :
(1)	 None of the above 	 (2)	 All of the above
(3)	 Only a and b 	 (4)	 Only c and d 

50.	 ^maVmVrb {deof Am{W©H$ joÌm§Mo Imbrbn¡H$s H$moUVo 
‘hËdmMo C{Ôï> Zmhr?
(1)	 OmXm Am{W©H$ {H«$`m H$bmnm§Mr {Z{‘©Vr 
(2)	 {Z`m©Vrbm àmoËgmhZ
(3)	 eoVrMm {dH$mg 
(4)	 amoOJma {Z{‘©Vr

�� Which of the following is not an important objective 
of Special Economic Zones in India?
(1)	 Generation of additional economic activity
(2)	 Promotion of export
(3)	 Development of agriculture	
(4)	 Creation of employment 

51.	 ~mb‘¥Ë`wXa hm {Xboë`m ^m¡Jmo{bH$ joÌmVrb EH$ dfm©À`m 
H$mbmdYrV 1000 {Od§V OÝ‘m‘mJo ....... d`m Imbrb 
‘wbm§À`m ‘¥Ë`y§Mr g§»`m Amho.
(1)	 EH$ df© 	 (2)	 EH$ ‘{hZm
(3)	 EH$ AmR>dS>m	 (4)	EH$ {Xdg

�� The infant mortality rate is the number of deaths of 
children under ....... of age in a given geographical 
area during a given year, per 1000 live births.
(1)	 One year 	 (2)	 One month
(3)	 One week	 (4)	 One day

52.	 ‘w»` Am{W©H$ g„mJma H¥$îU‘wVu gw~«‘Ê`‘ (Am{W©H$ gd}jU 
2020-21) ̀ m§À`m ‘Vo Am{W©H$ nwZàmárMo ñdê$n H$go Agy eH$Vo?
(1)	 U-AmH$mamMo 	 (2)	S-AmH$mamMo 
(3)	 V-AmH$mamMo 	 (4)	Z-AmH$mamMo

�� According to Chief Economic Advisor Krishnamurthy 
Subramaniam (Economic Survey 2020-21), what 
may be the shape of Economic recovery? 
(1)	 U-shape 	 (2)	 S-shape 
(3)	 V-shape 	 (4)	 Z-shape

53.	 ^maVmÀ`m H|$Ðr` AW©g§H$ën, 2020 Zwgma H$anmÌ CËnÞmgmR>r 
Am`H$a XanmVir {H$Vr Q>Š`m§n`ªV Amho?
(1)	 5% Vo 25%	 (2)	5% Vo 35%
(3)	 5% Vo 30% 	 (4)	5% Vo 20%

�� What is the range of tax rates for taxable income as 
per the Union Budget, 2020 of India?
(1) 	 5% to 25	 (2)	 5% to 35% 
(3)	 F%to 30% 	 (4)	 5% to 20% 
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54.	 Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A.	 ^maVmV H$m¡Qw>§{~H$ joÌmbm nya{dbr OmUmar drO OJmV 

gdm©V ñdñV Amho.
~.	 ^maVmVrb CÚmoJm§Mm {dOoMm Xa OJmV gdm©V OmñV Amho.
H$.	 ^maVmVrb drO {dVaUmMm IM© naVmdm g‘mYmZH$maH$ 

Amho.
n`m©`r CÎmao :
(1)	 ’$º$ A Am{U ~ 	 (2)	 ’$º$ ~ Am{U H$
(3)	 ’$º$ A Am{U H$ 	 (4)	darbn¡H$s H$moUVohr Zmhr

�� Which of the following statements are correct?
a.	 The price of electricity for Indian households is 

lowest in the world.
b. 	 The price of electricity for Indian industries is 

highest in the world.
c. 	 Cost recovery in distribution of power is 

satisfactory in India.
Answer Options :
(1)	 Only a and b 	 (2)	 Only b and c
(3)	 Only a and c 	 (4)	 None of the above 

55.	 Imbrb {dYmZo {dMmamV ¿`m. 
A.	 Am§Vaamï´>r` ì`mnma hm Xoe-XoemVrb dñVw Am{U 

godm§À`m {H$‘Vr‘Yrb ’$aH$m§da AmYm[aV AgVmo.
~.	 ì`mnmamÀ`m AQ>r dñVwÀ`m {Z`m©V Am{U Am`mVrÀ`m 

{d{Z‘` JwUmoÎma qH$dm Ë`mÀ`m {H$‘VrÀ`m JwUmoÎmaÀ`m 
g§X^m©V KoVmV.

H$.	 Am§Vaamï´>r` ì`mnmamVrb ì`dhmaeofmÀ`m Zm|Xr Xwhoar 
Zm|X nÕVrZo Ho$ë`m OmVmV.

da {Xboë`m {dYmZ/{dYmZm§n¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a 
Amho/AmhoV?
(1)	 darb gd© 	 (2)	 ’$º$ A 
(3)	 ’$º$ H$ 	 (4)	 ’$º$ A Am{U ~

�� Consider the following statements : 
a.	 International trade is based on differences in prices 

of goods and services from country to country. 
b.	 The terms of trade refer to the exchange ratio of 

export and import goods or their price ratio.
c.	 The Balance of Payments record in International 

Trade is maintained in a standard double entry 
book-keeping method.

Which of the statements given above is/are correct?
(1)	 All of the above 	 (2)	 Only a 
(3)	 Only c 	 (4)	 Only a and b 

56.	 0:025 BboŠQ´m°Z ìhmoëQ> D$Om© Agbobm Ý`yQ>m°Z åhUOo ........
(1)	 Am¡pîUH$ Ý`yQ´m°Z	 (2)	 EqnW‘©b Ý`yQ´m°Z 
(3)	 doJdmZ Ý`yQ´m°Z 	 (4)	‘§X Ý`yQ´m°Z

�� A neutron having energy of 0.025 eV is a/an ........
(1)	 Thermal neutron 	 (2)	 Epithermal neutron 
(3)	 Fast neutron 	 (4)	 Slow neutron 

57.	 H$‘r Vmn‘mZmÀ`m dñVyVyZ Cƒ Vmn‘mZmdarb dñVyV, CîUVm 
ñWmZm§VaU .......
(1)	 AeŠ` Amho 
(2)	 XmoÝhr dñVy g§nH$m©V R>odyZ eŠ` Amho
(3)	 H$mhr ~mø H$m`© H$éZ Vo eŠ` Amho 
(4)	 `mn¡H$s Zmhr 

�� Transfer of heat from a body at low temperature 
to a body at low temperature to a body at higher 
temperature is .........
(1)	 impossible 
(2)	 possible by keeping both the bodies in contact
(3)	 possible by doing some external work 
(4)	 None of the above 

58.	 ÜdZrMr H$‘rVH$‘r ldUr` dma§dmaVm åhUOo
(1)	 ldUj‘VoMr Ama§^ Vrd«Vm 
(2)	 ÜdZr ldUj‘VoMr Ý`yZV‘ ‘`m©Xm
(3)	 ÜdZr ldUj‘VoMr CƒV‘ ‘`m©Xm 
(4)	 darbn¡H$s Zmhr

�� The minimum audible frequency of sound means
(1)	 threshold intensity of audibility 
(2)	 lower pitch limit of audibility
(3)	 upper pitch limit of audibility 
(4)	 None of the above

59.	 {ham ....... Amho.
(1)	 YmpËdH$ ñ’${Q>H$ 	 (2)	ghg§`wOr ñ’${Q>H$
(3)	 Am`Zr ñ’${Q>H$ 	 (4)	 aoUy ñ’${Q>H$

�� Diamond is a ........
(1)	 Metallic Crystal 	 (2)	 Covalent Crystal
(3)	 Ionic Crystal 	 (4)	 Molecular Crystal

60.	 ....... {‘l YmVwMo, Cƒ gm‘Ï`© Vo dOZ JwUmoÎma àm‘w»`mZo 
{d‘mZ Am{U Am°Q>mo‘m~mB©c CÚmoJm§‘Ü¶o dmna H$aÊ`mMr 
{e’$mag H$aVmV.
(1)	 hbŠ`m ñQ>rbÀ`m	 (2)	hbŠ`m {Q>Q>§°{ZA‘À`m
(3)	 hbŠ`m Vm§ã`mÀ`m 	 (4)	hbŠ`m A°ë`w{‘{Z`‘À`m

�� The high strength-to-weight ratio of ....... alloy 
mainly recommends their use in aircraft and 
automobile industries.
(1)	 light steel 	 (2)	 light titanium 
(3)	 light copper 	 (4)	 light aluminium 

61.	 ImbÀ`m dmVmdaUmV hm`S´moH$m~©Z Am{U Zm`Q´moOZ 
Am°ŠgmBS> øm‘Ü`o A{^{H«$`m hmoD$Z Yyhma V`ma hmoVmo. ømM 
AÝ`moÝ`{H«$`oV ....... ho Xwæ`‘ CËnmX AgVmV.
(1)	 ’$º$ AmoPmoZ Am{U ApëS>hmBS>
(2)	 ’$º$ ApëS>hmBS> Am{U {H$Q>moZ
(3)	 ’$º$ ApëS>hmBS>, {H$Q>moZ, nam°pŠgA°{gb Zm`Q´oQ>
(4)	 AmoPmoZ, ApëS>hmBS>, {H$Q>moZ, nam°pŠgA°{gb Zm`Q´oQ>

�� In lower atmosphere, smog is formed by the reaction 
between hydrocarbon and nitrogen oxide. This 
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interaction produces ......... as secondary pollutants.
(1)	 only ozone and aldehydes.
(2)	 only aldehydes and ketones
(3)	 only aldehydes, ketones, peroxyacyl nitrate 
(4)	 ozone, aldehydes, ketones, peroxyacyl nitrate 

62.	 A‘r~m hm àmoQ>moPwAZ àmUr Amho H$maU
A.	 EH$noer` àmUr Á`m‘Ü`o CVr Am{U Ad`d ZmhrV.
~.	 gd© àmÊ`m§‘Ü`o àmMrZ d gm‘mÝ` àmUr.
H$.	 N>X²‘nmXmMm dmna hmbmMmbrgmR>r H$aVmo.
S>.	 A§Jmda {N>Ðo Agbobm àmUr 
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
(1)	 ’$º$ A 	 (2)	 ’$º$ A Am{U H$
(3)	 ’$º$ A, ~ Am{U H$ 	 (4)	 ’$º$ H$ Am{U S>

�� Amoeba is a protozoan animal because
a.	 it is a cellular animal without tissues and organs. 
b.	 it is the simplest and most primitive of all animals. 
c.	 pseudopodia is present for locomotion.
d.	 it is a pore-bearing animal.
Which of the statements given above is/are correct?
(1)	 Only a 	 (2)	 Only a and c 
(3)	 Only a, b and c 	 (4)	 Only c and d 

63.	 Imbrbn¡H$s H$moUVr OmoS>r/OmoS>çm dÝ`àmÊ`m§Mr Zmdo Am{U 
d¡km{ZH$ Zmdo `m g§X^m©V ~amo~a Amho/AmhoV?
A.	 Am{e`m`r qgh - n±ÝWoam {bAmo nagrH$m
~.	 nÅ>oar dmK - n±ÝWoam Q>m`J«rg
H$.	 ^maVr` J|S>m - am`Zmo{ga²g `w{ZH$moaZrg
S>.	 Wm‘rZ h[aU - gad²g B©bXr
n`m©`r CÎmao :
(1)	 ’$º$ ~ Am{U H$ 	 (2)	 ’$º$ H$ Am{U S>

(3)	 ’$º$ A Am{U H$ 	 (4)	darbn¡H$s gd© 
�� Choose the correct pair/pairs of the animal/animals 

and their scientific name/names? 
a.	 Asiatic lion 	 - Panthera leo persica
b.	 Royal Bengal Tiger 	 - Panthera tigris
c.	 Indian Rhinoceros 	 - Rhinoceros unicornis
d.	 Thamin Deer 	 - Cervus eldi
Answer Options :
(1)	 Only b and c 	 (2)	 Only c and d
(3)	 Only a and c 	 (4)	 All of the above 

64.	 Imbrbn¡H$s H$moUË`m àmUr g‘whmZo/g‘whm§Zr àW‘V: 
O‘rZrda OrdZmMm Adb§~ Ho$bm?
A.	 ganQ>Umao àmUr 	 ~.	 C^`Ma àmUr
H$.	 gñVZ àmUr 	 S>.	 njr (CS>Umao àmUr)
n`m©`r CÎmao :
(1)	 ’$º$ H$ Am{U S> 	 (2)	 ’$º$ ~ Am{U S>
(3)	 ’$º$ A	 (4)	 ’$º$ ~ 

�� Which of the following animal group/groups was/
were the first vertebrate to become adapted to life 

on land?
a.	 Reptilians 	 b.	 Amphibians 
c.	 Mammals 	 d.	 Aves 
Answer Options : 
(1)	 Only c and d 	 (2)	 Only b and d
(3)	 Only a 	 (4)	 Only b 

65.	 dZñnVrMr Z¡g{J©H$ dJuH$aU nÕVr H$moUr emoYyZ H$mT>br?
(1)	 {WAmo’«$mñQ>g 	 (2)	~|W‘ d hþH$a
(3)	 H$mb© {bZm`g 	 (4)	Or.E‘. pñ‘W

�� Who discovered the natural classification system of 
plants?
(1)	 Theophrastus 	 (2)	 Bentham and Hooker
(3) 	 Carl Linnaeus 	 (4)	 G.M. Smith 

66.	 Imbrbn¡H$s H$moUVm H$maH$Ord Jìhmdarb Vm§~oam amoJmgmR>r 
H$maUr^yV Amho?
(1)	 npŠg{Z`m J«m‘rUr {Q´Q>rH$m` 
(2)	 P§°Wmo‘moZmg {gQ´m` 
(3)	 n{³g{Z`m nanyar`m 
(4)	 ßbmP‘monmoam pìhQ>rH$mob

�� Which of the following is the causal organism of 
Wheat Rust disease?
(1)	 Puccinia graminis tritici 
(2)	 Xanthomonas citri
(3)	 Puccinia purpurea
(4)	 Plasmopora viticola 

67.	 eoVr‘Ü`o ^yJ^m©Vrb ^yOb Imbrbn¡H$s H$moUË`m KQ>H$m‘Ü`o 
nmPaVo?
(1)	 H$mbdo 	 (2)	 {dhra 
(3)	 Vbmd		 (4)	 Q>mH$s 

�� In Agriculture, groundwater is tapped by ........
(1)	 canals 	 (2)	 sinking wells 
(3)	 ponds 	 (4)	 tanks 

68.	 Imbrbn¡H$s H$moUVo H$moboñQ>oam°b ho Mm§Jbo H$moboñQ>oam°b åhUyZ 
AmoiIbo OmVo?
(1)	 LDL H$moboñQ>oam°b 
(2)	 VLDL H$moboñQ>oam°b
(3)	 LDL d VLDL H$moboñQ>oam°b 
(4)	 HDL H$moboñQ>oam°b

�� Which of the following cholesterol is considered as 
good cholesterol?
(1)	 LDL cholesterol 
(2)	 VLDL cholesterol
(3)	 LDL and VLDL cholesterol 
(4)	 HDL cholesterol 

69.	 Ooìhm {H$S>Zr (‘yÌqnS>) Q>`yã`yba nwZem}fU A`eñdr hmoVo, 
Voìhm ^anya bKdr hmoVo. `m amoJmbm (M`mnM` {dH$mambm) 
H$m` åhUVmV?
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(1)	 ‘Yw‘oh ‘o{c²Vg 
(2)	 ‘Yw‘oh BpÝg{nS>g
(3)	 {H$emoad`rZ ‘Yw‘oh
(4)	 Zm°Z-BÝgw{bZ Adb§{~V ‘Yw‘oh ‘o{c²Vg 

�� When kidney tubular reabsorption fails, copious 
urination follows. What is this disease (metabolic 
disorder) called?
(1)	 Diabetes mellitus
(2)	 Diabetes insipidus
(3)	 Juvenile onset diabetes
(4) 	 Non-insulin dependent diabetes mellitus

70.	 Imbrbn¡H$s H$moUVr bg Vm|S>mdmQ>o {Xbr OmVo?
(1)	 ~°{gbg H¡$b‘oQ>-JwE[aZ	(2)	g{~Z
(3)	 gmëH$ 	 (4)	JmbJw§S>, Jmoda, é~obm

�� Which of the following vaccine is administered by 
oral administered by oral route?
(1)	 Bacillus Calmette-Guerin 
(2) 	 Sabin
(3)	 Salk 
(4)	 Mumps, Measles, Rubella 

71.	 EH$ ^º$ ‘§{XamV Xe©Zmbm Jobm AgVm, Ë`mZo àË`oH$ nm`arda 
nm`arÀ`m H«$‘m§H$mEdT>r ’w$bo R>odbr. Xodmbm 9 ’w$bo dm{hbr, 
Voìhm Ë`mÀ`mH$S>o 17 ’w$bo {e„H$ am{hbr. Oa ‘§{Xambm 24 
nm`è`m AgVrb, Va Ë¶m ^º$mOdi {H$Vr ’w$bo hmoVr?
(1)	 415 	 (2)	 362 	 (3)	 346 	 (4)	 326 

�� A devotee, while going to pray in the temple, put 
flowers on each step that indicated its number. 
When he offered 9 flowers to God, he had 17 flowers 
in balance. If the temple had 24 steps, then how 
many flowers did the devotee have?
(1)	 415	 (2)	 362	 (3)	 346	 (4)	 326 

72.	 lrH$m§V ‘¡XmZmV CÎmaoH$S>o Vm|S> H$éZ C^m Amho. Vmo COdrH$S>o 
diVmo Am{U 30 {H$.‘r. àdmg H$aVmo. Z§Va Vmo S>mdrH$S>o 
diVmo Am{U 20 {H$.‘r. àdmg H$aVmo. nwÝhm Vmo COdrH$S>o 
diVmo Am{U 40 {H$.‘r. àdmg H$aVmo. nwÝhm Vmo COdrH$S>o 
diVmo Am{U 35 {H$.‘r. àdmg H$aVmo. Va AmVm Ë`mMo Vm|S> 
H$moUË`m {Xeobm Amho?
(1)	 nyd© 	 (2)	 Am¾o` 	 (3)	 Z¡F$Ë` 	(4)	 X{jU 

�� Srikant stands facing north on the ground. He turns 
right and travels 30 km. Then he turns left and 
travels 20 km. Again he turns right and travels 40 
km. Again he turns right and travels 35 km. Which 
direction is he facing now?
(1)	 East		  (2)	 North-East 
(3)	 South-West 	 (4)	 South 

73.	 Imbrb àíZmV nmM {dYmZo {Xbr AmhoV. VrZ {dYmZo {d{eï> 
H«$‘mZo g‘m{dï> H$éZ AZoH$ n`m©` {Xbobo AmhoV Á`m n`m©`mV 
{Vgao {dYmZ ho AJmoXaÀ`m XmoZ {dYmZm§déZ AZw‘mZ Xe©{dUma 

Amho, Agm gà‘mU n`m©` {ZdS>m.
{dYmZo : 
A.	 A{‘V ‘wbJm Amho.
~.	 H$mhr ‘wbo {H«$Ho$Q> IoiV ZmhrV.
H$.	 H$moUVrhr ‘wbJr {H$Ho$Q> IoiV Zmhr.
S>.	 A{‘V {H«$Ho$Q> IoiVmo.
B.	 Oo gd© {H«$Ho$Q> IoiVmV Vr ‘wbo AmhoV.
n`m©`r CÎmao :
(1)	 S>, H$, A 	 (2)	H$, B, ~ 
(3)	 A, ~, S> 	 (4)	 B, S>, A

�� The following question consists of five statements 
followed by several options consisting of three 
statements put together in a specific order. Choose 
the option which indicates a valid argument i.e. 
the third statement is a conclusion drawn from the 
preceding two statements. 
Statements :
a.	 Amit is a boy. 
b.	 Some boys do not play cricket.
c.	 No girl plays cricket.
d.	 Amit plays cricket.
e.	 All those who play cricket are boys.
Answer Options :
(1)	 d, c, a	 (2)	 c, e, b	 (3)	 a, b, d	  (4)	 e, d, a 

74.	 EH$m 100 {dÚmÏ`m©À`m dJm©Vrb 40 {dÚmWu J{UVmV CÎmrU© 
Pmbo Am{U 60 {dÚmWu B§J«OrV CÎmrU© Pmbo. 8 {dÚmWu 
J{UV d B§J«Or `m XmoÝhr {df`mV AZwÎmrU© Pmbo. Va {H$Vr 
{dÚmWu XmoÝhrhr {df`mV CÎmrU© Pmbo?
(1)	 5 	 (2)	 15	 (3)	 8	 (4)	 16

�� In a class of 100 students, 40 students passed in 
Mathematics and 60 passed in English. 8 students 
failed in both Mathematics and English. How many 
students passed in both the subjects? 
(1)	 5 	 (2)	 15 	 (3)	 8 	 (4)	 16 

75.	 EH$m àVbmV 8 q~Xy AmhoV, Ë`mVrb H$moUVohr VrZ q~Xy 
EH$aofr` ZmhrV. EH$m doir XmoZ q~XyZm OmoS>Umè`m aofm 
H$mT>ë`m, Va Aem {H$Vr aofm H$mT>Vm `oVrb?
(1)	 25	 (2)	 29	 (3)	 27 	 (4)	 28

�� There are 8 points in a plane, no three of which are 
collinear. If lines are drawn by joining two points, 
how many such lines would be drawn?
(1)	 25 	 (2)	 29 	 (3)	 27 	 (4)	 28 

76.	 {ZaOMo KS>`mi EH$m {XdgmV 5 2
1  {‘{ZQ>o nwT>o OmVo. Va 

{n`wfMoo KS>`mi Xa Vmgmcm 35 goH§$X ‘mJo nS>Vo. Oa XmoKm§Zr 
gH$mir AmR> dmOVm KS>`mi ~amo~a bmdbo, Va Ë`mM {Xder 
amÌr 12 dmOVm {ZaOMo KS>çmi {n`wfÀ`m KS>`mù`mnojm 
{H$Vr {‘{ZQ>o nwT>o Agob? 
(1)	 10 {‘{ZQ>o 	 (2)	13 {‘{ZQ>o 
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(3)	 9 {‘{ZQ>o 	 (4)	14 {‘{ZQ>o

�� Niraj's watch is fast by 5 2
1  minutes in a day. Piyush's 

watch watch lags behind by 35 seconds per hour. If 
their watches indicated the same time at 8 o'clock 
in the morning, then by how many minutes would 
Neeraj's watch be be ahead of Piyush's watch that 
night at 12 o'clock?
(1)	 10 minutes 	 (2)	 13 minutes 
(3)	 9 minutes 	 (4) 	 14 minutes

77.	 {Xboë`m eãXm§Mo g§M H$moUË`m doZ-AmH¥$VrZo XmI{dVm ̀ oVrb?
{ejH$, boIH$, {ddm{hV ì`º$s 

(1)	 	 (2)	

(3)	 	 (4)	

�� By which Venn-diagram can the given sets of words 
be shown? 
Teachers, Writers, Married persons.

(1)	 	 (2)	

(3)	 	 (4)	

78.	 Oa A = 1, B = 2, C = 3, ....., Z = 26, Va 'GODFA-
THER' hm eãX H$gm {bhmb?
(1)	 7-15-6-4-20-12-8-5-18 
(2)	 7-15-4-6-20-8-5-18-18
(3)	 7-15-4-6-2-10-8-5-18 
(4)	 7-15-4-6-1-20-8-5-18

�� If  A = 1, B = 2, C = 3, ....., Z = 26, then how will you 
write the word 'GODFATHER'?
(1)	 7-15-6-4-20-12-8-5-18 
(2)	 7-15-4-6-20-8-5-18-18
(3)	 7-15-4-6-2-10-8-5-18 
(4)	 7-15-4-6-1-20-8-5-18

79.	 Imbrb àíZmV I Am{U II øm XmoZ KQ>Zm {Xboë`m AmhoV. 
XmoÝhr KQ>Zm H$miOrnyd©H$ dmMyZ Ë`m§À`mVrb g§~§Ym§Mo ñdê$n 
R>adm. I d II ‘Ü`o {Xbobr ‘m{hVr gË` Amho Ago J¥hrV Yê$Z 
AMyH$ CÎma {Z{íMV H$am.
KQ>Zm :
I. lr har AmJrV ‘mabo Jobo.

II. H§$nZr ‘Ü`o AmJ bmJbr.
n`m©`r CÎmao :
(1)	 I hm n[aUm‘ Amho Am{U II ho Ë`mMo à‘wI H$maU Amho.
(2)	 II hm n[aUm‘ Amho Am{U I ho Ë`mMo à‘wI H$maU Amho.
(3)	 II hm n[aUm‘ Amho, na§Vw I ho Ë`mMo à‘wI H$maU Zmhr.
(4)	 darbn¡H$s EH$hr ~amo~a Zmhr.

�� In the following question, events I and II are given. 
You have to read both carefully and decide their 
nature of relationship. You have to assume that the 
given information in I and II are true and decide the 
correct answer.
Events :
I.	 Mr. Hari was killed in a fire. 
II.	 A fire broke out in the company. 
Answer Options :
(1)	 I is the effect and II is its principal cause.
(2)	 II is the effect and I is its principal cause.
(3)	 II is the effect, but I is not its principal cause.
(4)	 None of the above is correct. 

80.	 Imbrb g§»`m§‘YyZ {dg§JV g§»`m emoYm :
343, 324, 3375, 10648, 64
(1)	 64 		  (2)	3375
(3)	 324 		 (4) 	10648 

�� Find the odd man out from the following numbers :
343, 324, 3375, 10648, 64
(1)	 64 		  (2)	3375 
(3)	 324 		 (4)	10648 

81.	 {ZaOZo EHy$U 60 {H$.‘r. A§Vamn¡H$s n{hbo 20 {H$.‘r. A§Va 
Vmer 10 {H$.‘r. doJmZo nma nmS>co, nwT>rc 20 {H$.‘r. A§Va 
Vmer 12 {H$.‘r. doJmZo d am{hbobo 20 {H$.‘r. A§Va Vmer 
15 {H$.‘r. doJmZo H$mnbo, Va {ZaOMm g§nyU© 60 {H$.‘r. 
A§VamÀ`m àdmgmVrb gamgar doJ {H$Vr?
(1)	 Vmer 12 {H$.‘r. 	 (2)	Vmer 13 {H$.‘r.
(3)	 Vmer 14 {H$.‘r. 	 (4)	Vmer 11 {H$.‘r.

�� Niraj covered the first 20 km distance, out of a total 
of 60 km, at a speed of 10 km/hr, the he next 20 
km distance at 12 km/hr and the remaining 20 km 
distance at 15 km/hr. What is the average speed of 
Niraj to cover the 60 km distance?
(1)	 12 km/hr 	 (2)	 13 km/hr 
(3)	 14 km/hr 	 (4)	 11 km/hr 

82.	 Zohm EH$ H$m‘ 6 {Xdgm§V nyU© H$aVo Am{U aoIm VoM H$m‘ 18 
{Xdgm§V nyU© H$aVo. Oa Ë`m XmoKtZr EH$Ì H$m‘ Ho$bo Va Ë`m§Zm 
Vo H$m‘ nyU© H$aÊ`mg {H$Vr {Xdg bmJVrb?
(1)	 4-5 	 (2)	 4 	 (3)	 5 	 (4)	 3.5

�� Neha can do a work in 6 days and Rekha can do it 
in 18 days. How many days would it take them to do 
the same work if they worked together?
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(1)	 4.5 	 (2)	 4 	 (3)	 5 	 (4)	 3.5 

83.	 EH$m aH$‘oMo XmoZ dfmªMo gai ì`mO d MH«$dmT> ì`mO AZH«$‘o 
<1,800 d  <1,890 Amho. Va Vr a¸$‘ X.gm.X.eo. {H$Vr 
ì`mO XamZo R>odbr hmoVr?
(1)	 10 	 (2)	 9 	 (3)	 12 	 (4)	 15

�� The simple interest and compound interest for 2 
years of a sum is 1,800 and 1,890 respectively. What 
is the rate of interest per cent per annum?
(1)	 10 	 (2)	 9 	 (3)	 12 	 (4)	 15 

84.	 Imbrbn¡H$s H$moUVm n`m©` hm CVaË`m H«$‘mZo {bhrbobm Amho? 
(1)	 5/8, 9/13, 11/17 	(2)	5/8, 11/17, 9/13
(3)	 9/13, 11/17, 5/8 	(4)	11/17, 9/13, 5/8

�� Which of the following is in descending order?
(1)	 5/8, 9/13, 11/17 	(2)	5/8, 11/17, 9/13
(3)	 9/13, 11/17, 5/8 	(4)	11/17, 9/13, 5/8

85.	 ~mJoMo àdoe ewëH$ 35% Zo H$‘r Ho$ë`m‘wio ̀ oUmè`m àdmem§Mr 
g§»`m 40% Zo dmT>br. Va àdoe ewëH$m‘wio CËnÞmV hmoUmam 
~Xb hm :
(1)	 7% H$‘r Pmbm 	 (2)	9% dmT>bm 
(3)	 9% H$‘r Pmbm	 (4)	5% H$‘r Pmbm

�� On reducing the entry fee by 35% in a park, the 
number of visitors increased by 40%. Then the 
percent increase or decrease in the income from the 
entry fee is 
(1)	 7% decrease 	 (2)	 9% increase 
(3)	 9% decrease 	 (4)	 5% decrease 

86.	 amï´>r¶ JwÝho Zm|XUr {d^mJmÀ¶m (NCRD) AhdmcmZwgma 
~mbH$m§g§~§Yr JwÝh`mMr ‘m{hVr {ZåZà‘mU Amho :
A.	 2018 ‘Ü¶o Xa{Xder 109 ~mbH$m§Mo c¢{JH$ emofU.
~.	 2018 ‘Ü¶o Aem 39827 KQ>Zm Zm|Xdë`m Joë`m.
H$.	 2018 ‘Ü¶o ~m{bH$m§da ~bmËH$mamÀ`m 21401 KQ>Zm 

KS>ë`m.
S>.	 ~mbH$m§da AË`mMmam§À`m gdm©{YH$ 2832 KQ>Zm 

‘hmamï´>mV KS>ë`m (2018).
darbn¡H$s H$moUVo {dYmZo ~amo~a AmhoV?
(1)	 ’$º$ A, ~ Am{U H$ 	 (2)	 ’$º$ ~, H$ Am{U S>
(3)	 ’$º$ A, H$ Am{U S> 	 (4)	darb gd© 

�� According to the report of the National Crime 
Registration Department, the information related 
to Child Crime is as follows :
 a.	 In the year 2018, 109 children were sexually 

abused every day. 
b.	 39827 such incidents were reported in 2018.
c.	 In 2018, there were 21401 incidents of rape of girls.
d.	 The highest 2832 incidents of rape on children 

occurred in Maharashtra 2014.

Which of the above statements are correct?
(1)	 Only a, b and c 	 (2)	 Only b, c and d
(3)	 Only a, cand d 	 (4)	 All of the above 

87.	 ES²g {Z`§ÌU {d^mJ hm Imbrbn¡H$s ....... ‘Ü`o {dbrZ 
H$aÊ`mV Ambm AgyZ AmVm Vmo amï´>r` ES²g {Z`§ÌU g§KQ>Zm 
(NACO) åhUyZ AmoiIbm OmVmo.
(1)	 ^maVmMr Hw$Qw>§~{Z`moOZ g§KQ>Zm
(2)	 Amamo½` d Hw$Qw>§~H$ë`mU {d^mJ
(3)	 amï´>r` Hw$ð>amoJ {Z‘y©bZ H$m`©H«$‘
(4)	 amï´>r` j`amoJ {Z`§ÌU H$m`©H«$‘

�� Department of AIDS control has been merged with 
....... and now it is known as National AIDS Control 
Organisation (NACO).
(1)	 Family Planning Association of India 
(2)	 Department of Health and Family Welfare
(3) 	 National Leprosy Eradication Programme 
(4) 	 National TB Control Programme

88.	 emim, ‘hm{dÚmb`o, {dÚmnrR> d e¡j{UH$ AmñWmnZm 
VgoM Zm|XUrH¥$V AemgH$s` g§ñWmZrhr Eo{Vhm{gH$ {R>H$mUo 
nmhVm `mdrV `m CÔoemZo "H$mamJ¥h n`©Q>Z' CnH«$‘ am~{dUmao 
^maVmVrb n{hbo amÁ` H$moUVo Amho?
(1)	 amOñWmZ 	 (2)	 CÎma àXoe 
(3)	 ‘hmamï´> 	 (4)	 {~hma

�� The schools, colleges, universities, educational as 
well as private institutions may witness historical 
places. Keeping this aim in view, which is the first 
State in India that decided to set up 'Jail Tourism'?
(1)	 Rajasthan 	 (2)	 Uttar Pradesh
(3)	 Maharashtra 	 (4)	 Bihar

 89.	 ZrarÛmao gÝ‘m{ZV XrZ~§Yw gmhÿ `m§Mo H$m ©̀ Imbrbà‘mUo Amho :
A.	 g‘wÐr` e¡dmb da "’$m{‘ªJ X Amo{e`Z' ZmdmMo nwñVH$.
~.	 "~m`moS>mB©d{g©Q>r Am°’$ bmB©’$' ‘oar H$m°‘ da AmYm[aV 

bKwnQ>.
H$.	 B§Q>aZoeZb gmogmBQ>r ’$m°a EZOu EZdm`©‘|Q> E§S> 

gñQ>oZo{~{bQ>r‘Ü`o g§emoYZ.
S>.	 {MëH$m àH$ënmAmYmao g‘wÐr eoVrMo à{ejU. 
darbn¡H$s H$moUVo dmŠ` AgË` Amho/AmhoV?
(1)	 ’$º$ A Am{U H$ 	 (2)	 ’$º$ ~
(3)	 ’$º$ A, H$ Am{U S> 	 (4)	darbn¡H$s EH$ hr Zmhr

�� Following is the work of Dinabandhu Sahu, 
honoured by NIRI :
a.	 A book of 'Farming the Ocean' on sea algae.
b.	 Production of short film 'Biodiversity of Life' 

based on Mary Kom.
c.	 Fellowship and Research in International Society 

for Energy Environment and Sustainability.
d.	 Sea farm training based on Project Chilika.
Which of the above sentences is/are incorrect?
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(1)	 Only a and c 	 (2) 	 Only b
(3)	 Only a, c and d 	 (4)	 None of the above 

90.	 Org°Q>-30 Mr Imbrbn¡H$s H$moUVr d¡{eï>`o AmhoV?
A.	 dOZ-3357 kg
~.	 Cƒ JwUdÎmoMr XyaXe©Z, Xyag§Mma d àgmaU godm XoUma
H$.	 12 gr, 12 Ho$`y ~±S> Q´mÝgnmoÝS>aZo gwg‚m
S>.	 Cƒ JwUdÎmoMm XiUdiU CnJ«h
n`m©`r CÎmao :
(1)	 ’$º$ A Am{U H$ 	 (2)	 ’$º$ ~ Am{U S>
(3)	 ’$º$ A, H$ Am{U S> 	 (4)	darbn¡H$s gd© 

�� Which of the following are characteristics of GSAT-30?
a.	 Weight - 3357 kg
b. 	 Provides high quality Television, Telecommunica-

tion and Broadcast services
c.	 Equipped with 12C, 12Ku Band Transponder
d.	 High quality communication satellite 
Answer Options :
(1)	 Only a and c 	 (2)	 Only b and d 
(3)	 Only a, c and d 	 (4)	 All of the above 

91.	 gmoZmbr Zdm§Jwi {bpIV Imbrbn¡H$s H$moUË`m H$mX§~arbm 
2021 Mm "‘amR>r gm{hË` AH$mX‘r nwañH$ma' {‘imbm Amho?
(1)	 ñdÀN>§X 	 (2)	 S´>r‘ aZa 
(3)	 àH$medmQ>m 	 (4)	‘Ü`amÌrZ§VaMo Vmg

�� Which of the following novels written by Sonali 
Navangul has won the 'Marathi Sahitya Akademi 
Award' in 2021?
(1)	 Swachhand 
(2)	 Dream Runner
(3)	 Prakashvata 
(4)	 Madhyaratrinantarche Taas 

92.	 AW©emómVrb Zmo~ob nwañH$ma {dOoVo (2019) A{^OrV 
~°ZOu `m§Mm AmOdaMm OrdZàdmg nwT>rb ‘wÔ`m§‘Ü¶o {Xbm 
Amho. Ë`mMr nwZOw©iUr H$ê$Z `mo½` n`m©` {ZdS>m. 
A.	 Ý`yZV‘ Am` `moOZm (Ý`m`) `m ^maVmVrb Xm[aÐ` 

{Z‘y©bZ `moOZoÀ`m {Z{‘©VrV `moJXmZ {Xbo.
~.	 "J[a~rMo AW©emó' `m J«§WmMo boIZ.
H$.	 BÝ’$mo{gg nwañH$ma {‘imbm.
S>.	 ào{gS>oÝgr H$m°boO, H$mobH$mVm ̀ oWyZ AW©emómMo AÜ``Z.
n`m©`r CÎmao :
(1)	 H$, ~, S>, A 	 (2)	 S>, ~, A, H$
(3)	 S>, H$, ~, A 	 (4)	H$, ~, A, S>

�� Winner of the Nobel Prize for Economics (2019), 
Abhijeet Banerjee's life journey till date is given in 
points below. Reorder them and choose the correct 
option. 
a.	 Contributed in preparation of Scheme Nyuntam 

Aay Yojana (NYAY) for poverty eradication in 
India.

b.	 Written a book titled 'Poor Economics'.
c.	 Received the Infosys Prize.
d.	 Studied economics at Presidency College, 

Kolkata.
Answer Options :
(1)	 c, b, d, a 	 (2)	 d, b, a, c 
(3)	 d, c, b, a 	 (4)	 c, b, a, d 

93.	 2021 ‘Ü`o {bAmoZob ‘oñgr `mMr Imbrbn¡H$s H$moUË`m 
nwañH$mamgmR>r gmVì`m§Xm {ZdS> Pmbr? 
(1)	 `wamo{n`Z JmoëS>Z ey
(2)	 dëS>© ßboAa Am°’$ X B©Aa
(3)	 dëS>© gm°H$a ßboAa Am°’$ X BAa
(4)	 ~°boZ S>r Amoa

�� Lionel Messi was selected for which of the following 
awards in 2021 for the seventh time?
(1)	 European Golden Shoe 
(2)	 World Player of the Year
(3)	 World Soccer Player of the Year
(4)	 Ballon d'Or 

94.	 75 ì`m ñdmV§Í` {XZmÀ`m nyd© g§Ü`og em§VrH$mimVrb draVoMo 
"AemoH$ MH«$' nwañH$mamZo H$moUmbm gÝ‘m{ZV Ho$co Jobo? 
A.	 E.Eg.AmB©. ~m~y am‘ 
~.	 nmobrg H$m°ÝñQ>o~b AëVm’$ hþg¡Z
H$.	 boâQ>rZ|Q> JìhZ©a {J[af M§Ð ‘wa‘y 
S>.	 {‘Pmoam‘Mo amÁ`nmb, nr.Eg. lrYaZ {n„B©
n`m©`r CÎmao :
(1)	 ’$º$ A Am{U ~ 	 (2)	 ’$º$ H$ Am{U S>
(3)	 ’$º$ ~ 	 (4)	 ’$º$ A 

�� On the eve of 75th Independence day, who was 
honoured with the peacetime Gallantry Award - 
'Ashoka Chakra'?
a.	 ASI Babu Ram
b.	 Police Constable Altaf Hussain
c.	 Lt. Governor Girish Chandra Murmu
d.	 Governor of Mizoram, P. S. Shreedharan Pillai
Answer Options :
(1)	 Only a and b 	 (2)	 Only c and d 
(3)	 Only b 	 (4)	 Only a 

95.	 Imbrb {dYmZo bjmV ¿`m : 
A.	 {H$dr ho ^maVmVrb n{hbo à‘m{UV g|{Ð` ’$i Amho.
~.	 AéUmMb àXoe ho {H$dr ’$imgmR>r à‘m{UV g|{Ð` 

’$imMm XOm© àmá H$aUmao XoemVrb n{hbo amÁ` Amho. 
darbn¡H$s H$moUVo {dYmZ/{dYmZo {~ZMyH$ Amho/AmhoV?
(1)	 ’$º$ A 	 (2)	 ’$º$ ~ 
(3)	 A Am{U ~ XmoÝhr 	 (4)	darbn¡H$s H$moUVohr Zmhr

�� Consider the following statements :
a.	 Kiwi is India's first certified organic fruit.
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b.	 Arunachal Pradesh is the first State in the country 
to obtain an organic certification for its Kiwis.

Which of the statements given above is/are correct?
(1)	 Only a 	 (2)	 Only b
(3)	 Both a and b 	 (4)	 None of the above

96.	 àYmZ‘§Ìr Amdmg `moOZm (ZmJar) (PMAYAU) A§VJ©V 18 
OmZodmar. 2021 n`ªV ....... Kao ‘§Oya H$aÊ`mV Ambr hmoVr.
(1)	 68.1 bmI 	 (2)	128.8 bmI
(3)	 165.8 bmI 	 (4)	109.2 bmI 

�� Under Pradhan Mantri Awas Yojana (Urban) 
(PMAY-U), as on 18th January, 2021 ....... houses 
have been sanctioned.
(1)	 68.1 Lakhs 	 (2)	 128.8 Lakhs
(3)	 165.8 Lakhs 	 (4)	 109.2 Lakhs 

97.	 AdZr MVwd}Xr, ^mdZm H$m§V Am{U ‘mohZm qgJ `m§Zr ^maVr` 
hdmB© XbmVrb bT>mD$ {d‘mZmÀ`m nmhë`m ‘{hbm d¡‘m{ZH$ 
{Z`wº$ hmodyZ H$moUË`m dfu B{Vhmg KS>{dbm?
(1)	 2015		 (2)	2016
(3)	 2017		 (4)	2018

�� In which year did Avani Chaturvedi, Bhawana 
Kanth and Mohana Singh created history by  
becoming the first women pilots to be commissioned 
into the fighter stream of Indian Air Force?
(1)	 2015		  (2)	 2016
(3)	 2017		  (4)	 2018 

98. 	 H$moUË`m A§Vami A{^H$aUmZo gd©àW‘ nyU©V… BboŠQ´rH$ 
àm`mo{JH$ {d‘mZ "EŠg-57 ‘°Šgdob' Mm àma§^ Ho$bm?
(1)	 b°n°Z		  (2)	 Bgamo (Am`.Eg.Ama.Amo.)
(3)	 gr.EZ.B©.Eg. 	 (4)	Zmgm

�� Which Space agency has launched the first all-elec-
tric experimental aircraft 'X-57 Maxwell'?
(1)	 LAPAN	 (2)	 ISRO 
(3)	 CNES 	 (4) 	 NASA 

99.	 nr.Eg.Eb.ìhr.-gr. 48 (PSLV-C48) `m àjonH$mÀ`m 

‘mÜ`‘mVyZ ^maVmÛmao 11 {S>g|~a, 2019 amoOr Imbrbn¡H$s 
H$moUVm H¥${Ì‘ CnJ«h AdH$memV gmoS>Ê`mV Ambm?
(1)	 RISAT - 2BR1 	 (2)	 EMISAT 
(3)	 CARTOSAT - 2B 	 (4)	 GSAT - 31

�� Which artificial satellite was launched by India on 
11th December, 2019 through PSLV-C48 launcher?
(1)	 RISAT - 2BR1 	 (2)	 EMISAT
(3)	 CARTOS-T - 2B 	 (4)	 GSAT-31 

100.	 93 ì`m ApIb ^maVr` ‘amR>r gm{hË` g§‘obZmMo AÜ`j 
Ooð> gm{hpË`H$ d {dMmad§V ’$mXa ’«$m§{gg {X{~«Q>mo `m§À`m 
OrdZmVrb K{Q>Vm§Mm AmOAIoaMm H«$‘ gw`mo½` àH$mao ì`º$ 
H$aUmam AMyH$ n`m©` {ZdS>m. 
A.	 "gw~moY ~m`~b-Zdm H$ama' J«§WmgmR>r gm{hË` 

AH$mX‘rMm amï´>r` AZwdmX nwañH$ma.
~.	 nwUo `oWo 15 ì`m ‘amR>r {¼ñVr gm{hË` g§‘obZmMo 

AÜ`jnX.
H$.	 H°$Wm°{bH$ Y‘©JwénXmMr {Xjm.
S>.	 "gwdmVm©' `m dmVm©nÌmMo ‘w»` g§nmXH$.
n`m©`r CÎmao :
(1)	 H$, S>, ~ Am{U A 	 (2)	A Am{U ~
(3)	 H$, ~, A Am{U S> 	 (4)	 S>, A, ~ Am{U H$ 

�� Select the right option regarding the Chairperson 
of 93rd Akhil Bhartiya Marathi Sahitya Sammelan, 
Senior Literary Author and Thinker, Father Francis 
Dibrito's life happenings till date. 
a.	 National Award for translation of 'Subodh Bible - 

Nava Karar' book by Sahitya Academy.
b. 	 Chairperson of 15th Marathi Christi Sahitya 

Sammelan in Pune.
c.	 The ordination as a Catholic priest.
d.	 Chief Editor of newsletter 'Suvarta'.
Answer Options :
(1)	 c, d, b and a 	 (2)	 d, c, a and b 
(3)	 c, b, a and d 	 (4)	 d, a, b and c

 
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Ans 1 2 3 4 5 6 7 8 9 10

1 1 2 4 4 2 2 4 3 4 3

11 2 3 1 3 3 3 1 3 4 4

21 1 4 4 4 3 1 4 4 1 4

31 2 4 2 4 1 4 2 2 3 3

41 3 1 3 2 4 3 3 1 2 3

51 1 3 3 1 1 1 3 2 2 4

61 4 3 4 4 2 1 2 4 2 2

71 4 4 4 3 4 2 1 4 4 3

81 1 1 1 3 3 4 2 3 4 4

91 4 3 4 4 3 4 2 4 1 1

# Zo Xe©{dcoë¶m àíZ aÔ H$aÊ¶mV Amcoco AmhoV. 
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